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General Marking Guidance

° All candidates must receive the same treatment. Examiners must
mark the first candidate in exactly the same way as they mark the last.

o Mark schemes should be applied positively. Candidates must be
rewarded for what they have shown they can do rather than penalised
for omissions.

o Examiners should mark according to the mark scheme not
according to their perception of where the grade boundaries may lie.

o There is no ceiling on achievement. All marks on the mark scheme
should be used appropriately.

o All the marks on the mark scheme are designed to be awarded.
Examiners should always award full marks if deserved, i.e. if the answer
matches the mark scheme. Examiners should also be prepared to award
zero marks if the candidate’s response is not worthy of credit according
to the mark scheme.

o Where some judgement is required, mark schemes will provide the
principles by which marks will be awarded and exemplification may be
limited.

o When examiners are in doubt regarding the application of the
mark scheme to a candidate’s response, the team leader must be
consulted.

° Crossed out work should be marked UNLESS the candidate has
replaced it with an alternative response.



Paper 1 marking principles for Sections A and B

Candidate responses

For open-response questions, the candidate does not have to write in full sentences. If
appropriate, they may respond using single words or phrases.

There are no marks for quality of language in this paper, so errors and omissions in spelling
and grammar will be tolerated as long as they do not interfere with

communication.

Consider only as many elements as there are marks, for example for a 1-mark answer, the
candidate’s first response is taken for assessment, even if this response is incorrect but the
correct information follows as a further element. Where 2 marks are available, award the
individual marks discretely but apply the order of elements rule.

Written responses in the wrong language cannot be awarded a mark.

Guidance to examiners on understanding and applying the
mark scheme

Alternative ways of giving the same answer are indicated with a slash (/) in between the
alternative responses, for example: It’s cheap/affordable.

Where appropriate, responses are separated with ‘AND’ for compulsory answers and ‘OR’ for
possible answers.

Any parts of an answer that are not essential are bracketed, for example: Q: What did he
study? A: (He studied) Maths.

Candidates are likely to write variants on the acceptable answers listed, and these should be
considered as acceptable if they convey the correct answer.

All possible answers have the correct amount of marks appropriate for the information
required indicated in brackets.

Suggested incorrect answers are indicated in the ‘Reject’ column.



Paper 1: Reading, Writing and Translation mark scheme

Section A
Question | Answer Mark
number
Example: | H
1(a) B (1)
1(b) A (1)
1(c) D (1)
1(d) C (1)
1(e) L (1)
1(f) J (1)
Question | Answer Mark
number
Example: | Nina
2(a) Mamun (1) Romi(1) (2)
2(b) Mamun (1)
2(c) Romi (1)
2(d) Nina (1)
2(e) Mamun (1)
2(f) Nina (1)
2(g) Romi (1)
Question | Answer Accept Reject Mark
number
3(a) AT (LT S TR (el JrRe 41 (1)
OR
SR /IR ST foetra gf s
o BIRIINCE AR SYSIEY
TS A0+ /AT
x4l
3(b) Fe/gfe e ClEERCRIRYASIEIE| TG (1)
afswiforet 3 /2ite =K
e
3(c) A2 SR DR@rl Qe /T 0! ST FCA (1)
*RE FerRlariQr /i
3(d) wisl =< ot T fdifoe 2@/2te (& PEACGIC) (1)
PRI
3(e) F FE A fafen F et/ o= PR/ 2T (2)
CT! T *_(dd qre
FEGTEICS ANeTl/ & rwel
AND (G /SCAE

P (s




Bl
3(f) e EREC) SAf*EFCeR NI foarse v/ (1)
ARV 28/ BR @i | fim SersE
R CeIR/Ameife Heghe/ | ¢ail
Wegfon dfower
3(9) At Foategar QAR TN /ITF ferga (1)
w5551 /o /Tt
BERSIE
3(h) ATH (1) AT /EOR WS AT RCAG (2)
AND
(ST =G *fece) ST GE 3 | KRN EA I | [SYAS) (4|
T ' e
(1)
3(i) e Afafers e (TR ICTT 0T TGRS (1)
F=iifey/efspm
3(33) o foafga FRITA /A /P At oafret (1)
Q4 Mark Scheme - Bangla
Question | Answer Accept Reject Mark
number
4@0) | 3R (1) QRS FAGE /SRS BIEE | BT (2)
+
CTRF (1) NI
4)(il) | FxER/fFeima T (RITH! (RS T (1)
4(@)(i11) | fyea @i vf: (2)
A R AT (1) T R A fofs -1
OR TR TP Tl
frreers fowel (/AT | oy /@eita @ @ @R
Tfewe AEACE @ a2 AT
(1) TR 0B BowT Tt
OR fafoael/RfeTel/F el /= qTe




tafoay /rewy
(1)
4@)(IV) | e =12 b e AR AEVE &N Qe & | A e | (1)
PRI (@ Ffe AR T PRSI G /GEZ] /<7 | S
PR SIF AE AT 8]
4@)v) | frer e 9 FRITARE TS (/TF ANF/FR | FRAA T4
At e/ IR e A A1 5 a0
FaIe Tl 0 (2)
OR 2bfere SA
JGICAr
(1)
OR RERASE
FI-RORSTTR TR T | Goremicrs Srer/woie & @l | 2D
el (1)
4@)(vi) | e vfS: (2)
(@Y T T grere | TN COf P ¥ e/
AT A 91T AR YR FE ZI0R
AND
(RS TG @/ | B FIFEACE DTS-
PRFTEE G (T G | BRI FACS (¥R (PG
SR (2Rl e FLEE @4 (A FARNE | O (R

(1)

BRI S frca /fBgE S

Total marks for Q4a = 10




Question Answer Accept Reject Mark
number
4(b)(i) (@Yoo FR-mm oE | e ai R | e vw e | (2)
93 TW7) EIFGHE AT 0/ Yfea 4o
fE forw e s TN T G/
Teifee 40 PRV FF Tg
(D | oot @R wifeE qrera
2*12:? AR e v | e/ R
T Gl (42 Face e
T8 e 0001 | s et s | g
D St S
4z F21/5E 8
aifFend Ff o
26
4(b)(ii) AT FFGT I (A6 | AN NI 2R A (2)
FNEE SN GG feifre wa1/58mR
QIRAF AT SIacE Heved | et e o=t et
- P — I AT
() | s waws =m=w/ |
AND gelfe =09 1/
THE TAE ATOF Lo Al 7 A1/
IR/ ARREET R 9T SICT /1 A AT
LT SR TTIICS! S e w41/
T (@ O @R (ol | DCT(CR®) A
- [ A/ ()
QA 87T Oltid
freaerel 77 %41/
TATS(1) TG
BICE )

Total marks for Q4b =4




Section B

General guidance on using levels-based mark schemes

Step 1 Decide on a band

Examiners should first of all consider the answer as a whole and then decide which descriptors
most closely match the answer and place it in that band. The descriptors for each band indicate
the different features that will be seen in the student’s answer for that band.

When assigning a level you should look at the overall quality of the answer and not focus
disproportionately on small and specific parts of the answer where the student has not
performed quite as well as the rest. If the answer covers different aspects of different bands of
the mark scheme, you should use a ‘best fit" approach for defining the level and then use the
variability of the response to help decide the mark within the level. For example, if the response
is predominantly in band 4-7 with a small amount of band 8-10 material, it would be placed in
band 4-7 but be awarded a mark near the top of the band because of the band 8-10 content.

Step 2 Decide on a mark

Once you have decided on a band, you will then need to decide on a mark within the band.

You will decide on the mark to award based on the quality of the answer; you will award a mark
towards the top or bottom of that band depending on how students have evidenced each of the
descriptor bullet points.

You will modify the mark based on how securely the trait descriptors are met in that band.

You will need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the band and the mark are appropriate.



Assessment Criteria
Question 5 (14 marks)

For this question, students’ work is marked by Pearson using assessment criteria
given in two mark grids:

e communication and content
e linguistic knowledge and accuracy.

The student is expected to produce 80 words for this task. The number of words is approximate and students
will not be penalised for writing more or fewer words than recommended in the word count. All work
produced by the student must be marked.

Question 5: communication and content mark grid

0 ¢ No rewardable material

1-2 e Limited ability to use language to narrate and describe people, events and ideas;
communication of information is occasionally successful

e Repetitive use of a limited selection of common words and phrases; limited use of
appropriate register and style

3-5 e Some successful use of language to narrate and describe people, events and
ideas; communication of relevant information is sometimes successful

e Some successful but repetitive use of common, familiar vocabulary; some use of
appropriate register and style

6-7 e Successful use of language to narrate and describe people, events and ideas;
communication of information is often successful

e A range of familiar and less common vocabulary and expression is evident; mostly
appropriate use of register and style

Additional guidance

Register and style definition — language used is at a suitable level of formality for the purpose of the task
and, where appropriate, the target audience.



Question 5: linguistic knowledge and accuracy mark grid

0 No rewardable material

1-2 Produces individual words and set phrases
Limited accuracy in use of straightforward grammatical structures,limited success
in referring to past, present and future events; regular errors prevent meaning
being conveyed

3-5 Produces simple, short sentences, which are sometimes linked
Some accurate use of straightforward grammatical structures, occasional success
in referring to past, present and future events; sometimes errors prevent meaning
being conveyed

6-7 Produces some more complex sentences with some appropriate linking

Mostly accurate use of straightforward grammatical structures, some success in
referring to past, present and future events; occasionally errors prevent meaning
being conveyed

Additional guidance

Complex language is considered to be:

varied and complex word order
extended sentences that include a range of structures that help to justify ideas
conceptually more challenging language.

Straightforward grammatical structures are considered to be:

repetitive, simple word order
short, simple sentences that use a repetitive range of common, high-frequency structures.

Errors: The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that prevent meaning being conveyed:

errors that mean the reader cannot understand the message, for example consistent
mismatching of subject, predicate and parts of speech; incorrect choice of vocabulary; use of
spoken language; wrong tense; and spelling errors that change the meaning. For instance,
1ol (mother) and 1T (black) should be considered acceptable but 3me1 (head) and 311 (deaf)
should not

errors that convey the wrong message
mother-tongue interference.

NB: these are examples only and do not constitute a finite list.




Question 6 (26 marks)
For this question, students’ work is marked by Pearson using assessment criteria given in two mark grids:

e communication and content
¢ linguistic knowledge and accuracy.

This question contains three bullet points that form part of the task. Failure to cover all
three bullet points will impact on the marks that can be awarded against the requirements
of the communication and content mark grid. In order to access marks in the top band,
students must refer to all bullet points and meet the other assessment criteria in the top
band.

The student is expected to produce 140 words for this task. The number of words is
approximate and students will not be penalised for writing more or fewer words than
recommended in the word count. All work produced by the student must be marked.

Question 6: communication and content mark grid

e No rewardable material

1-3 e Communicates brief information relevant to the task with little development

e Occasional adaptation of language to explain or interest or persuade;
straightforward thoughts and ideas are expressed with occasional success

e Variable use of appropriate vocabulary, register and style; repetitive use of
common, familiar language

4-7 e Communicates information relevant to the task with some development of key
points and ideas

e Some effective adaptation of language to explain or interest or persuade; thoughts
and ideas are expressed with some success

e Some appropriate use of vocabulary, register and style; some different examples
of common familiar language

8-10 e Communicates information relevant to the task with development of key points
and ideas

o Effective and sometimes creative adaptation of language to explain or interest or
persuade; thoughts and ideas are expressed successfully

e Appropriate use of vocabulary, register and style; some examples of uncommon
language

11-13 ¢ Communicates information relevant to the task with consistent expansion of key
points and ideas

e Creative adaptation of language to explain or interest or persuade; thoughts and
ideas are expressed with flair

e Consistently appropriate use of vocabulary, register and style throughout; a wide
variety of language is used

Additional guidance

Creative language use - using language in a way designed to create effect and interest.
Goes beyond the standard or predictable response.

Register and style definition — language used is at a suitable level of formality for the
purpose of the task and, where appropriate, the target audience.



Question 6: linguistic knowledge and accuracy mark grid

No rewardable material

Uses mainly straightforward grammatical structures

Occasional sequences of fluent writing, with occasional extended, linked sentences
Occasionally accurate straightforward language and grammatical structures;
occasionally successful references to past, present and future events; errors occur
that sometimes hinder clarity of communication

4-7

Some variation of grammatical structures, including some repetitive instances of
complex language

Prolonged sequences of fluent writing, with some extended, well-linked sentences
Generally accurate language and structures; some successful references to past,
present and future events; errors occur that occasionally hinder clarity of
communication

8-10

Uses a variety of grammatical structures including some different examples of
complex language

Mostly fluent response, with frequent extended sentences, mostly well linked
Mostly accurate language and structures; mostly successful references to past,
present and future events; errors rarely hinder clarity of communication

11-13

Uses a wide variety of grammatical structures, including complex language
Fluent response throughout with extended, well-linked sentences

Consistently accurate language and structures; consistently successful references
to past, present and future events; few or no errors that hinder the clarity of the
communication

Additional guidance

Complex language is considered to be:
e varied and complex word order

e extended sentences that include a range of structures that help to justify ideas
e conceptually more challenging language.

Straightforward grammatical structures are considered to be:
e repetitive, simple word order

e short, simple sentences that use a repetitive range of common, high-frequency structures.




Errors: students are not expected to produce perfect, error-free writing in order to access the top
band. The mark grid describes the frequency of errors and the impact that errors have on
coherence.

Errors that do not hinder clarity:

e errors that do not affect the meaning, for example incorrect use of a pronoun where there is no
confusion as to whom the pronoun refers; incorrect arrangement of words that does not hinder
clarity; occasional use of spoken language that does not affect the meaning; incomplete
sentences that convey the intended message.

e infrequent errors that do not distract the reader from the content and which result in coherent
writing.

Errors that hinder clarity:
e errors that make writing difficult to understand immediately (even if the meaning is eventually

understood)/errors that force readers to re-read in order to understand what is meant
e frequent errors hinder clarity as they will distract the reader from the content of the writing.

NB: these are examples only and do not constitute a finite list.



Paper 1 Marking Principles for Section C

Mis-spelling is tolerated as long as it does not lead to ambiguity, e.g. drought misspelled as
drowght would be acceptable but misspelled as draught would be unacceptable as this would
lead to ambiguity.

Students are likely to write variants on the acceptable answers listed and these should be
considered as acceptable if they convey the same intended meaning.

Translation is successful if a Bangla speaker would understand the translation without having
understood the text in its original language.

Question | Text Correct answer Acceptable Reject Mark
number answers
7 for young people S-S TSI S (1)
to express innovative | gt fowidl e | Tgw fowl/qRet/o=/ | o7 fowr | (1)
ideas.
ideas - -
Bangladesh Youth QA T AGW Sl /79 /37 oy (1)
Parliament s
is a strong media G35 W My | /AR derEe/ | gde (1)
et e /sterst<s
leadership skills SFATE (TQUGA st/ sArmffe! Il (1)
amongst young
beople TSI (Tl 2T ol
and on issues of @ BT, SO G sfiere /it fers (1)
local, national, and ’ '
global importance 099 el fe /
fTetce
an increasing AGoTe! TS (ol /E@ TS wealerel/ (1)
awareness
QCIfe
It facilitates af5 (93 Heom™) TS /ATETST IR A4 7 (1)
SR (7 |
of the Government. | sgicag P EEAIE @ATFIE (1)
against any decision | crsiay fraes Reewa | s /Mo gl (1)
also, to raise their | zfer <ty (cor RLIEIA R fag i (1)
voices
AR AN SIS QTS TIRCe AT
(@R @IS )
It enlables young a5 (@3 FeTm) CERIGICED (1)
eople
beop ST T T | | JTAEGRCS @190 A =
I/ (O
recently el fogfvm @ra/zwmr | wws et | (1)




The Youth T AW A T AW/ EAs | PR (1)
Parliament members
on topics such as the | Jrza s @32 797 | I ToF 41/ @ wa/ | (1)
protection of .
Sundarbans and the | SFFCTE RERETIR @si7 | BICT @1z QICERCHIS
urban developments. T AR/ *REd
ICHIICIAY)

held fruitful L] WD FCACR | | FoATS /5 e (81 (1)
discussions - b
This Parliament a3 oW 93 ATD G3 FIPE (1)
a fair national TIPSR IR G0 Y | “Pre<eels g EENE (1)
election to the EICHABNICE TSR /AT | AN (oI5
Government BETH
as well as facilitating | ¢ wwFaMa &= SIFAF | FARTAWE IS AW (1)
job opportunities for
the youngsters. PR (e TR (79 TR BERUCESIG]

wif e ICEE® ey femer | (1)
also demanded e R SRS '

IECR
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